Physics Chapter 5 Review
Name ______________________

Force:

Newton's Third Law:

Weight:

Newton's First Law:

Friction:

Static friction:

Sliding friction:

Terminal velocity:

Newoton's Second Law:

Drag:

Short Answer:
1. How are mass and weight related?  Would this relationship change on Mars?

2. Why is it easier to stop a car than a truck when both are moving at the same speed?

3. An elevator is traveling from the lobby to the top of the building.  As it stops on the top floor, in which direction is its acceleration?  Explain.
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4. In the drawing at right, use arrows to show the two horizontal and two vertical forces acting on the boat as it is pulled to the shore.  

a. Is there a net force on the boat?

b. Explain the difference between action-reaction forces and net forces.  Using the boat shown in the figure, describe an example of each.

5. What is the relationship between sliding friction and speed? Between sliding friction and normal force?

6. What force is required to accelerate a10.0 kg ball at +3.0 m/s2?

7. What is the mass of a cat that weighs 32.0 N?

8. Acceleration due to gravity on Mars is 3.8 m/s2.

a. Would a 5.7 kg watermelon weigh more on Earth or on Mars?

b. How would the mass of the watermelon differ?

9. How much force is needed to keep a 109 kg box moving at a constant velocity across a ware house floor if the coefficient of friction between the box and the floor is 0.21?

10. A 5657-N cross-country skier is moving over packed snow.  The coefficient of friction between the skis and the snow is 0.09.  What force is required to keep the skier moving at a constant speed?

11. What is the coefficient of friction between a 74-kg roller skater and the floor of the roller rink if the skater moves at a constant speed with a force of 73 N?

12. An elevator has a mass of 1.13 x 103 kg.  Suppose it accelerates upward at 0.43 m/s2.  What is the force acting on the elevator's support cable?  

13. A rocket weighs 2.0 x 107 N.  Its engines exert + 2.5 x 107 N of force at lift-off.

a. What is the mass of the rocket?

b. What is its acceleration when its lifts off?

14. A 45 N sled slides on packed snow.  The coefficient of friction is now only 0.13.  If a person weighing 580 N sits on the sled, what force is need to slide the sled across the snow at constant speed?

15. A 45-N box is pulled along a horizontal frictionless surface by a 27-N weight                       hanging from a cord along a frictionless pulley.

a. What is the acceleration of the box and the weight?

b. What force is exerted on the cord?
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